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*1. What is Hardy-Weinberg equation (%8 £ 3837 For Hardy-Weinberg equafion to be
true, what assumptios need to meet?

2. Please explain the postulates ({234 & 4 34) that Mende! has proposed from his genetic

experiments with garden pea.

3. Compare the difference between Meiosis and Mitasis.

4. In a species of plant, two genes control flower color.

the white alleie {#}; The color-producing allele {C) is dominant to the non-color-
producing allele (). You suspect that etther an rr homozygote or a ce homozygote

will produce white flowers.

In other words, #r is epistatic to C, and c¢ is epistatic to

The red allele () is dominant to

R.  To test your hypothesis, you allow heterozygous plants (RrCe) {o self-fertilize and
count the offspring.  You obtain the following results:201 plants with red flowers and
144 with white flowers. Conduct a chi-square analysis to see if your observed data
are consistent with your hypothesis.

Probahility (p)
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